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2. Which of the following has a removable discontinuity at z = —37
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5. Which of the following is TRUE? k—\/__‘-} ) " ﬁ
i

i1 {an (22YY =8
[. sin (.5111 ( 3 )) = 3 5("-'( J_E_ ) S'?"‘-‘(-’() L\as r&'vsJe
5% T
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11. If a certain radioactive substance has a half-life of 7 days, how long, in days, does it take
for the sample to decay to % of its original amount?
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touhen Y= 3y,
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18. Find the area of the largest rectangle that can be inscribed under the curve y = e~** and
above the z-axis.
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19. Use a Riemann Sum to estimate the area under the graph of f(z) = \/x from x = 1 to
x = 4 using three approximating rectangles and left endpoints.

(W)VT+V2+ V3 > (
B. vV2+V3+V4 ecchh hes widé ol

) \/_+\/_+\/_+\/Z height of ® : -FL‘):’J;- -
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E. 1(vV2+v3+V4) « =@ =J3
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©) Q@ &

Aol b apraioly

= 10/ 15 =

5
N\




9:47 AM  Fri Apr 24 = 99%
& math.purdue.edu

20. If y(a / \/ V't + 6t dt, use Part 1 of the Fundamental Theorem of Calculus to
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